METAL
& Garden Screen

WALL BRACKET
INSTALLATION

T
=y

L

Reaiiae |

= |
K 4@
\N@Kw\ e )

TOOLS REQUIRED

— —1mm > ]
Level

8mm Masonr
il bi




N <4
é E INSTALLATION

o Position the wall bracket on the wall. 9 Bolt lower bracket to screen.
Level it, then mark hole positions.

M8 bolt Bottom / Upside down.

M8 washer

: \
%\ fﬂ((‘iscreen ©—— M8 washer M8 bolt

RS
B
=7
y
[

S,

—

I
B

—>
—

M8 nut
E——-F——wall bracket

.............................................................

Hang the screen on the first installed | PRO TIPS
bracket in position. Ensure colour coating is not damaged

wall bracket

e Drill holes on the marks and mount the by wall or bolts.

brackets using anchor bolts.

>

PRO TIPS

Leave mounted anchor bolts loose Qﬁ\&% - R

until step . : \R@\/ ( \/}’{(f
\ ﬁ\%
PR

Tz
Y
e

Anchor bolt Mark lower hole positions.

Remove screen and drill lower Hang the screen to the bracket.
e bracket holes. 6 Secure the lower bracket using anchor bolts. PRO TIPS

Ensure colour coating is not damaged
by wall or bolts.

§;

iririripipf

Anchor bolt

@ Tighten bolt on upper bracket.

— M8
washer




N\ K7
g ‘g PARTS VIEW

Bracket

M8
washer

Anchor bolts

QN %\ Anchor bolts

Parts
Screen X 1
Bracket X 2
% M8 Bolts X 8
M8 Locknut X 8
M8 Washer x 16
%I%z@ Anchor bolt x 10 M8 washer

Metal Garden Screen Ltd.

Metal Garden Screen, Unit 2381
37 Westminster Buildings, Theatre Square

}){ 4}4 Nottingham. NG1 6DQ
‘ ’ Tel: +44 800 044 8412
> 4 Email: sales@metalgardenscreen.co.uk/

Website: https://metalgardenscreen.co.uk/

M E I AL REGISTERED IN ENGLAND
Company number: 9270750

Garden Screem
f ® © in




